EARAROBEEIERT — 2 N— IBISH —F

201746A3H () 3mpR#1A

M bS5 2 3 KREF 4 HET] Eih ‘[fﬂi] W ‘[%iﬂ%lﬂsﬁl] - | & (%) 1800M FE
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N BEEE :54. -1-1- . . FHE (EXR)
i 17lisl 71 x2— i 3 BeR 1(5_4)7 1-1-1-1 [39.5| 82.3 | 12 (434) =L
LF— W RKTPY - Byt Tx%= [ e
SEIRER :54. 00— X X BEEE (EXR)
2 7| 7AE=X =1 — % 3 G 1(7511:)7 2-2-2-2 |39.4| 8.2 | 5 té? gﬁﬁ&mﬁ
R:d—IWRFPY2— B:Xh=U—FY>y AR S
N Az . 34— KBS (FEX)
3l1l2| 27EINES K i 3 M (}5%7 3-3-4-3 |39.1| 82.1 | 2 (5&4) R
L:d—IWRT7Y2—)b B:Fv—LK)—L FRBE
# 3 | tEE— 1:54.8 3-3-3-3 [39.3| 81.3 | 1 | 522 |t (FR)
48|15 *EY—T7 12X 54.0 (1/2) o | ¥ro57
LI INATA—H— BVIHXFXT b Bllikae]
_ =Ak . -10-10- PAE
Ov457 o3| BR 1.(545).5 10-10-10-7 | 39.0 | 75.2 | 4 g? %?EEEE%&%%)
L:g—MIVKRYIL B:5TURIXFTINY "HET77— L4
= WERS :55. —5-5- . . TEBX (EXR)
IYT4H i 3 i 1 (515)7 5-5-5-5 |39.8 | 74.0 | 10 ‘:Z? o
R:F1—TZ2h4 B:T7IVZR LIS
. . N = . 7 A %0
EF/I—-FIL it 3 gfg% 1.(55.2 7-7-6-6 | 40.1| 70.1 | 9 440 f;’az%%i (E®)
RNINTI Baxs o> e s
; # 3 | ENEE 1:56.4 14-14-11-9 | 39.7 | 68.0 | 15 416 | BEEB— (ER)
YREALA =) — 54.0 (1 1/2) (o) | () #=7 2wk
AN —hEPR BRALFIOF— w77 — L4
s = e - FREFIR :56. -15-15- . . THBEL (EX)
H—S2 KTy it 3 st.o (11 516/46) 14-15-15-13| 39.2 | 65.9 | 11 32) EKEZ—‘&“/)I/7
LN—=v754 B:X—)X—=NL1)—F J=YrTyp—L
N - L 7 :56. -13-11- . . HEF (EER)
274 —275> [B] 8 B5 (11 516/28> 1013 9.9 649 |7 (ﬁi) ) Hor—L—sy
RiN—5—y T B:ZH—Ly bLFq J—HrIr—L
. Ele sy : 76— FEHEA (FER)
TITF ALK i 3 Jexd 1(.35/%9 8-7-6-7 | 40.7| 65.1 | 3 <4+522> v
SIVNATA—H— BiATOA—KU-— LA 754577 — 1
< e . EHRBZ . 56 BREBFZ (FBH)
1215110l Yo VLY HE 4 3 o 1.(578).1 5-5-6-9 | 41.6| 56.9 | 14 (ﬁ) o
RILNATA—H— BT A4S
. < = N FRAAAEA : -10-13- ket (EX)
1311|2137 FHN 3| FEX 1.(579).2 10-10-13-14] 41.9 | 49.1 | 8 (35133) =i
RiZRY—pEPR BIUET«F—L e
—a . = B :59. -12-13- . . ELEE (ER)
1407114 Fram IRy 4 3 E 1{529)5 10-12-13-15| 42.2 | 47.4 | 16 (::s) EE;%%
LTANWNTTFH— By — i —%=
. . AALLBLE . —16-16- SBAZERE (FEH)
151816 FV—2H -1 i 3 mu 2.(070>.6 16-16-16-16| 42.0 | 38.7 | 13 (4_144) o
LidIHr L TI—RY B:AYTH—I ful e ]
IS 4 3 | DIEEREEK 2:03.6 8-9-9-11 |47.1| 31.1 | 6 490 | EEFHEE (RR)
w2l ey Ly —7 %53.0 (519) e L R DR e
R:d—IWRK7Y2—b B:77>KU4KyD BENHUS
@ 71 L
) 51.7-39.5
NA>ZA4 L | 12.7-11.6-13.5-12.6-12.6-12.2-12.5-13.0-14.0
@ 11— S —EBlIEfL
13=3r= (x13,7) (2,15) (4,10)11(6,12) (1,3,14)5(9,8)-16
2= = 13,7(2,15) (4,10)-(6,11)-12(1,3)14,5,9,8,16
Gol=5r= (x13,7)15,2,4(6,11,10)-12,3(9,5) (1,14)-8-16
43 —4— (¥13,7) (2,15)-4,11-(6,3) (9,10) (12,5)-8,1,14=16
[ N3
H OB 13 7,000/ 714K 7-13 5,110 & 4-7 17,040 JEHE 2-7-13 37,880H
8 B 13 2,320 2-13 4,180 B = 7-13 25,0504 B 13-7-2 398,850M
7 520M 2-7 920 B H 13-7 57,1804
2 370M

ABICOVWTRDTEEERROODE. TR LIV,




